S
[hunf
Lk
T

=&

AT

iy

=113
i

E K I

N

BTy M N2 7B MO A AV 2 VR E T

= 5o

TR ETEEE H —THLI-1

= OfE Rl

EEr Ny

i 2 7B IR (20 2wk L)
H bBiEEAAE 7R E (3,000~5,000U L)

Hl & |[HIH|H

Lyl

#1547 A HESL T 24521 700~800 7 9

NALEGH J7 1k

FR4L B A AL DAL | 25 200 - 1]

-

E

L i

= OfE Rl

E:

H & |[HIH|H

Lyl

MBEBRL L AR

ALK J5 1k

AP RE R

w5 3R

E A

L i

= Bl

E:d

Hl & HIH[H

Ly

R T

NALERH J5 1k

AP RE R

T

E A

=5

=l

Hl & |H[H|H

Ly

WA TS

NALERH S5 1k

AP E R

I

O I

%o

kil

C:d

Hl & HIH[H

Lyl

WA T3 B

NALERHK S5 ik

AFLF 7 iR 4

(& FLamL 023 K




s
|m
IS

(S

FERAER

E

i &5 8 R L

F 5 P

Tk H ET A AR I

k]l

T

5 BB S =T (E,
i FEA—N AT = B

i kA ) | AEPR £ 136.50m | 15S5.6m
£ NCU A= VA AN 7

55 SN T AT 7V MRS

Hl & H|HH

i

#1547 H

R T i

*h K EEK T
5,000~5,500 7 4

AALE T5 1k

a4t 4 AL

AFLTF 7 R 34

25 3L -1

4 R

I RATE R

E

TISHE —RBETEMIRSLAL ) R

e i e T8

s

Tk FET AR Hi

4 Rl

AR

=

UL Y T

B T

MR T

At BER - mI oG A

Hl & H|H|H®

Eu

#1104 H

R A

4,500~5,0005 H

AALET5 1k

FEA WL AL

AFLTRE I

251U -4

4 R

FERAER

i

TINSEELE —RBEIEMHENT AL 7y S R (i e fiE T

=%

Tk HETF San IR Hi

= A5l

bk T4

L2

1o St B BB T8
T R A HE BT T

H| & H|H|H =

by

#1104 H

WAL L A

3,000 5 F4~3,500 15

AALEK J5 1k

FEA B AL

AP RE I

5 1 DU =14

T

A

0

T
T
T %= f jl
15
T

]

AR ) i)

AALEK J5 1k

AR RE Ip

I

L

=5 BT

L3

T
T
T F & 5l
158
T

Ly

RS g R

NFLERK J5 1k

AFLT RE W

(FEIEFLEL D 2AF D)




s
|l
i3

(S

P TR BLER

E

#ifi SV g R LEDfLk & T4

s

A SN OE

k]l

Rk % ELED/L T 5%

%=

T2 T IEHAOIAT | KT B AR HRAALT

Hl & H|HH

i

57> H MRS TSR 500 5 H

AALE T5 1k

a4t 4 AL AL E 3] | 25 2 DU =14

I

P TR BLER

E

i SO ZE TR R e T8

s

TSNV

4 Rl

ZE R fif e T

=

Pgm i fig Lg%, Bl akls T

Hl & H|HH

Eu

377 H MR TR 360 5 H

AALET5 1k

a4 g AAL AFL T e | 5 1 DU -2

S

i

i

= A5l

L2

H & H|H|H

by

WAL L A

AALEK J5 1k

AP RE I

T

A

¥ 5

%

T
T
T %= f jl
15
T

]

AR ) i)

AALEK J5 1k

AR RE Ip

I

T % 4 W

£ 5

= Bl

T
T
158 =
T

Ly

RS g R

NFLERK J5 1k

AFLT RE W

(FEIEFLEL D 2AF D)




B GRE AR R

T % 4 R OFSERE (BM4AFESE) 21-58 4 RN X S EE I T H

T # 8 Ar EEHEN SRS TR N

T % M B AR TE

- = HIRIER L=13m +1T N=1: %EIET N=1X

T %67 H BER T F B 650~700 07

NFLEA 715 | Fa 40 B A KL AFLT & e | 265 1 DY =34

oM R RAIR LR

T % 4 W DTSERE (SRAGEN) 21-1175/\H )5 5 HX 2 558 3218 [H T

T % 8 g EENHRESCEN BB AN

T % M B AR TE

- - HEIHER A=0. 34ha +T. N=1=

T %64 H BB T3 R 450~500 5

ANFLIZHK 515 | Fa 4 54 ANFL AFL T R | 265 1 DY 34

B B EARR LR

T #H & W DFSFEE (BFAFK) 21-1975 K FEHIX 2K EE IR T4

T £ 5 pr WG TR N

T o M B AT E

- - AEIHERE L=25m +T. N=1X &IET N=1K

T %64 H BB T3R5 300~350 5

MNFLERA 71 | F5 44 i AKL AALTEREH | 26 1 DU -1

B R AR

T. F 4 FRDFISERE (GRAES) 21-2055 /DA Hin X E H 558 #1810 T2

T & 85 g WG X8 % N

T F M 5 —KIbARTE

- - EIHERE L=22m +T N=1X EIET N=1K

T %64 H RS T A 250~300 )7

NFLERA 715 | F5 44 B AKL AALTEREH | 26 10U -1

B R AR LR

T oK & GRUCEREAGR RIS 21—21%%(@&%?)3(3)%!2%%\21—107%j<IEIEWRiHj[X7J<
B, 211165 & 7 IR KK B S =18 1H T8

T 5 gr| WG SCFRIUARIR, &R N

T F M OB AT E
+21-21 HIHIEE L=9m +1IT N=1X #EItT N=1X

1% #.21-107 EHIHEE L=32m + 1T N=1z{ AKKLT N=1K
+21-116 HIFEERE L=32m +T N=1:X KKILT N=1=, %EItT N=1KX

T %64 A RS T AL 250~300 )7

NGRS SRS YN N ANALTEREH | 26 10U -1




o B PR IRBLR

RIS (43 Fn4458)

21-258 K35 (3) Hh X 24l 211275 K3 (4) HI X AR BR $8 2=

LA g
T % 8 Fr NIRRT RS N
T % f& Bl AT E

21-25 HIHIER L=14m + T N=1{
" = +21-127 HIHIEE L=14m L+ T N=13X EIET N=1X
T %64 A RS T AL 250~300 )7
NGRS SPpiREEES e YN N AFLTE IR | 265 1 DY =1
o R R
T H & B DTSR (HF44ES) 21-103 5% H IR #X K KK EH IR T
T % 8 PR ANTIERR N
T % f& Bl —EATE
- %:?’EIHE@E L=19m +T N=1& #ItT N=1:K
I K6 A BERE TR 300~350 /7
NFLEH 7k | F8 40 B AN KL AKLTE IR | 265 1 DY =14
o R EAR R
T % 4 B DTSR (BR44S) 21-108 &N A X K S EE IR T5
T % % g EGETENE HN
T % f& Bl —EATE
- = AEIHERE L=12m +1T N=1X #EIT N=1xK
T K16 A BEA TR 300~350 /7
NFLEH 7k | F8 40 B A HL AKL T2 R | 265 1 D0 =34
oM GR ERAIRELEE
T % 4 R DFSERE (HF4ES) 21-1185F 7R (3) i X EE & TS5 EE 0 T3
T # i Fr|IG S XFE R A
T F M OB AR TE
- = EIIEE L=4. 1m #KT N=1X, BfIKET N=1xX
T %64 A BES T B 500~550 77
NFLER 715 | F5 40 B A KL AKL T2 R | 265 1 D0 =34

(&1 RIEL DAFR )




B GRE AR R
T #H 4 B BMSEE MiEEENERS SR EEIRTH
T % 8 Fr BB RTINS X5/ NITER N
T % B ER T (MaE R E)
WIHER 1L=67m, K L fEAEMRAT T A=1, 133. 3,
HE % .
ST A=2,011. 5nf
T K187 H BEE TR 4, 9005 H
NFLEA 715 | Fa 40 B A KL AFLT & e | 265 1 DY =34
oM R RAIR LR
T #H 4 B BMSHEE MiEEENER S K EEIHTH
T F 8 F| EIE NG SR N
T % B ER T (MaE R E)
” g?ﬁlﬁ@% L=15m, #ERET & 1Nas 7V —hgERE V=100. 2mi,
PEAhEex T miiERY=F L% L=10m, BEExSEmiE
I KI5 H RS T B 1, 6505 H
ANFLIZHK 515 | Fa 4 54 ANFL AALTEREH | 26 1 DU -1
B B EARR LR
T % 4 W OTSEE MiE T O THE TH
T 5 pr| BB AT B el RN E D
T # & B AR TE (T A7 7V ML)
. - TATZ7/VMNHET. A=1, 060ni, 7L —F 71l L=15m
T K47 A RS TR 1, 2905 H
MNFLERA 71 | F5 44 i AKL AALTEREH | 26 1 DU -1
ooy 3
T = 4
T =#= &% 5
T = f
HE %
T b1} MR T 2 A
NFLERA J7 ik ANFLT e H
CiE N
T F 4
T #= &% 5
T = f& jl
1 2
T bitj B T A
NFLERA J5 ik AFLT & e H]

(FEIEFLEL D 2AF D)




B PR ARG
T # 4 B BHSEE Uy —RANELTLED/L L5
T K 8 Py KB AT AT 1E)
T % M Op|ERLE
- = HRTESTLEDAL20 7
T #9137 H MR TH - 1,600 5
AALERHK F7 1k | 2R AFLT & e | 25 100 -1
oY PR R
T % 4 FRDFISMEEE WTE Hyk H A BRI e B T
T B pr| HWCEETALRT T HipN
T % M B AR TE
- = EEW RIERE L=230m

EE R mfE A=1, 630m
T %34 A BES T HHE| 2,500 07 1
ANFLIZHK 515 | Fa 4 54 ANFL AFL T2 e | 25 1 D0 -1
oY PR RS
T % 4 WRAFISEEE WTE R R AR R T
T # 8 pr BIREETRINR) HN
T o M B AT E
- = EEW RIERE L=130m

B EEAT A=1, 040nt
T %34 H RESE T HHIE 1, 5005 H
MNFLERA 71 | F5 44 i AKL AALTE REH | 26 1 D0 -4
By PR ARG
T # 4 FR|OFSMAEE HE MUPERRE R R T5
T & 8 pr BURE TR R HN
T F M 5 —KIbARTE
- = BRI RIEE L=100m

fAESE N=1X -BRTA® A=430m - ik T A=410m
T K47 A WER THHAE 5705 M
NFLERA 715 | F5 44 B AKL ANALTEREH | 26 200 -1
oY PR ARG
T # 4 W SMSEE HEMA=Z IHEKRI R TF
T % 8 g B E RN AR LR HEN
T F M OB R bARTE

GERIBRIEE L=134m
" * -URMATE240 L=124m -HRWE A=288m -&fi2E T A=288n
T ;%47 A BES T3 640 7 1
NGRS SRS YN N ANALTEREH | 25 200 -1

(FEIEFLEL D 2AF D)




s
|m

(S

i

E

RIS T8 HHT @Al S R L

F 5 P

TR B AT A S AR Hi

k]l

—fx AT

%=

L BIEE L=165m
< AJBL RIS 300%300 L.=164m

AR N=1J&

Hl & H|HH

i

#1377 H

MRS T A

8007 H

AALE T5 1k

a4t 4 AL

AFLTF 7 R 34

25 3L -1

4 R

i

E

ARISEEEE WTIE/NEF R S HIOE B R T

s

Ty ARG  B/hNEr e i

4 Rl

—fx AT

=

fiti TAER L=47.8m

LAYANE 1=74.5m PBSHEIHEAKPE N=2J&

SHEE T A=431.1m2

Hl & H|H|H®

Eu

#3741 A

R T s

650 5 H

AALET5 1k

FEA WL AL

AFLTRE I

265 20U -1

S

i

E

TRISEE R EARRK RS T A RRAIE T

i

Tk 5 WY

= ]

el

— AT

L2

TET. N=1=
T N=1%

H & H|H|H

by

#1970 H

WAL L A

9, 0005 M

AALEK J5 1k

FEA B AL

AP RE I

5 20U -1

T

%

E

TRSERE HREARREROS LM EFEE FEBBRME TF

0

bk BT RS 35 B 5=

= ]

=

—fR AR T E

%

T N=1z

H & H{HH

]

FI7HH

R T A

5, 0005

AALEK J5 1k

FEA WL AL

AR RE Ip

E AU E S

I

MR

L

TRISHSE BT IE P RS 2 T

=5 BT

Tk HETES S5 B b N

]

el

—fR AR T E

L3

HiEMEIER L=70m
AL E S A=252n

H & HIHH

Ly

#1347 H

RS g R

220 15

NFLERK J5 1k

54 3t 4 AL

AFLT RE W

C RN ES:

(FEIEFLEL D 2AF D)




s
|m
IS

(S

i

E

DRSS HTIE X B e L F

s

IR B RTINS 54 HI

k]l

—fx AT

%=

TEMEER L=70m
TEEAEIE A=252n

Hl & H|HH

i

#1347 H R TR 18007 H

AALE T5 1k

a4t 4 AL AL E R 575 1 DU -1

4 R

i

E

TRISEEEE WTIE AT H LSRR LA e T

s

bk B ETES 35 B = As H#ip

4 Rl

—fx AT

=

HEEN BIER L=40m HEGEIEE W=4m
SrE R A A=160m

Hl & H|H|H®

Eu

#1347 H HER TR 240 5 H

AALET5 1k

a4t ML DAL E R 25 1214

S

i

i

SRSHELE T H VR Ak T T

F 5 P

bk B kN

=M B

Pl

ekl 1%

L2

WRERTEE 16
EAKRTHH 1R

H & H|H|H

by

97 H HE T 5| 1540 15

AALEK J5 1k

a4 i ML DAL E R 25 1 Y - 5]

T

A

0

T
T
T % f jl
15
T

]

AR ) i)

AALEK J5 1k

AR RE Ip

I

T % 4 W

5

= Bl

T
T
158 =
T

Ly

RS g R

NFLERK J5 1k

AFLT RE W

(FEIEFLEL D 2AF D)




S
|l
%
Lk
f=d11l

| R AR

E

0T R 2 — B SR lfe T

s

Al 0 EART5

k]l

RPN T

s 150

Hl & H|HH

i

67 1

R T i

22,0001

ALK 71k

ARIE

AFLTF 7 R 34

ARAE

I

AT R

E

Wy R — SR e T8

s

Al 075

= M

Pl

RPN T

=

FEBELE 1

Hl & H|HH

Eu

471 H

R T s

3,600T-H

AALET5 1k

ARAE

AFLTRE I

ARIE

S

i

i

= A5l

L2

H & H|H|H

by

WAL L A

AALEK J5 1k

AP RE I

T

A

¥ 5

%

T
T
T %= f jl
15
T

]

AR ) i)

AALEK J5 1k

AR RE Ip

I

T % 4 W

£ 5

= Bl

T
T
158 =
T

Ly

RS g R

NFLERK J5 1k

AFLT RE W

(FEIEFLEL D 2AF D)




